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(1v) He has paid Prémium of Rg

45,000 for 4 1 1 Policy on his life, which was
taken on .08 2013 (Ssum as

Sured Rg, 4.00,000)
)0 for purch
and Expendiy

His has p; : p |
(V) A Paid Rs. 4_( as¢ of lottery tickets, which has not been
ebited 1o : ;
d Income ure account.
(V1) Depreciation In re

SPect of all assets h
per Income-¢

as been ascertained at Rs. 50,000 as
ax Rules, 1942

(vi)) He deposited Rg. 1,50,000 in ppp
(viti) Donation of Prime

Minister Nation
crossed cheque

al Relief Fund has been made by way of

(11)
-7 & o0 3940 w5 s @ o S
U4 =g &A@

m‘ﬂmwﬁﬁha;wrkﬂuw-ﬁu‘rmaﬁ 2016
31 9, 2016ﬁmﬁ%aﬁaﬁ§amm

L ®. s T,

FHARA B 379 7 B 4,30,000 w ity 12,63 ,000

I A = fRrg 8,000 R T | g 15,000
AN g

IUHRT F T T @ R 3,69,800 Hed AEE ure fEFa 28,000
T (FEs Afien. ®
12,000 =)

=ETE & forw 91,000

e =g # e 151,000

TUFHA UEH F9 A T 5,000

FH * foro

= ) g A nfua 2,51,800

L I # fFe
L 13,06,600 | WA 13 ,06,600
I AT
(i) Ioeir o T zara A IS URaR & fore Iwam @ @ © 25,000 (FFa) &) T
1
afefera 2
(i) v e ¥ fafte wen IR qREEE F EET T R R € 20,000 w0
]
ey witafera B

PI.O.
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15
Additional Information-

The firm ¢ ated ‘
(1) ompleted all legal lormulmes to get the status of “firm’
(i) The firm donated R. :

o 5 80.000 to notifieq public charitable trust, whicl

included in other St, which 1s

expenses.

(i) Salary and interes; (4 [

Heailr. ° P-a. are paid (o partners as per the partnership

(iv) Depreciation allowable under section 32 js Rs. 80.000

Compute the taxable incc :
201613 & axable income of the firm and partners for the assessment year

L3 L3

FHAMRA 1 AT 2,18,800 qHA T 12,00,000
g™ 1,80,000 drerafurs T = 1,40,000
WRER F AiatHE = =R ufeaat 1,60,000
X 3,00,000
b 4 2,60,000
Tall W =
X 36,000
N 25,200
I =g 3,70,000
€ 7 1,10,000

15,00,000 15,00,000
FERaa F=ER:

(i) ‘w' N Pufy yra =@ R o & 3 o ffts sitraReaw of & 2

(i) wf ¥ femgfaa adwt= v/l &= F1 T 80,000 7 v ¥, R o0 =l &
Fata aftafaa e w2

P RO,
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T e
/ Amount (Rg, )
Particulars / e,
l ‘60’003000

Equity share capital (1,60,000 shares of Rs. 100 each)

552

e S

16,00,000

12% Preference Shares
f —_— ]
24,00,000

e —

10% Debentures

y are quoted at Rs. 110 and the company

The equity shares of the compan
d of Rs. 15 per share. Rate of growth of

is expected to declare a dividen

dividend is 8%, which is expected to be maintained.

(i) Assuming the tax rate of 40%, calculate WACC using book value

weights.

(i) The company wants to raise the additional term loan of Rs. 20,00,000

at 10%. Calculate the revised WACC assuming the market price of

equity shares has gone down 10 Rs. 105. (5+10=15)

OR
(a) “Financial Management is concerned with the solutions of three major decisions
a firm must make.” Explain this statement highlighting the inter-relationship

amongst these decisions.

(b) XYZ Ltd, has the following book value capital structure

(Rs. crore)
Equity Capital (Rs. 10 each) 15
12% Preference Capital (Rs. 100 each) 1
Retained Earnings 20
—
11.5% Debentures (Rs. 100 each) 10
11% T L
o Term Loan
12.5
4_____.—-"‘
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(=) vz i ) T e A W T I

FAT ® A
A o0 (10 & T W) 15
120, Ot s G0 (100 & A1) !
yfauRa  sm 20
11.5% @@ R¥=R (100 & ) 10
11% Jmafeten = 12:5

ST Wi i S A W 3.60 % WA 3 2 | WA WG A F qga
79, B 20 T 2 | Wi IR AR FAd 40 T # 10 a4 = wieea st =i
| 75 & it R @ Raw A fw w21 6 T @ e RER 80 T U

R @ W W AE @ 2w B g s aR w @ 40% B

it o wiRta stea w1 aReEe (i) I aeg YR SR (i) WO T WR A
gfte A Fifere |

2.  AC Ltd. has just installed Machine X at a cost of Rs. 4,00,000 having a useful
life of 5 years with no residual value. The annual production is estimated at
1,50,000 units which can be sold at Rs. 12 per unit. Annual operating cosls ar¢
estimated at Rs. 4,00,000 (excluding depreciation) at this output level. Fixed
costs are estimated at Rs. 6 per unit (excluding depreciation) for the same level

of output.
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6

: s stem
(1) The relevant cash flows of the machining systen

(ii) Payback period

(ui) NPV
back and NPV assuming the machining system

(iv) The relevant cash flows, pay
s when its book value is

can be sold for Rs. 50,000 at the end of 5 year

supposed to be zero.

back and NPV assuming that the depreciated

(v) The relevant cash flows, pay
fth year will stand

lue of the system upon termination at the end of fi
ything i.e. 1S sales value will be

(13)

book va
at Rs. 50,000. However, it will not fetch an

Zero.

AC fafads 3 vt & A 4,00,000 T Hl T X et ) e faan @ fomrn S
argsa&isﬂzmw@hm%mwm: 1,50,000 gfe Brm
o 12t.uﬁgﬁa%mﬁ%hmmlzﬁmmmmﬁ$maaﬂﬁ
FaEa: 4,00,000 T (s T o e ) AR | TR IeaeT TR W T A

s 6 T afe ¥ (T T fee ) )

o 3 v ol R Y 2 @ et guEr g T R R WA e I A A
s T R | T S AE 3,60,000 € B # smm 2 (3 & N BE W) |
ol AT A e R T8 B | W 9 ol e 5,00,000 ® ¥ SR SEAT
A AR

ol X T A 1,00,000 T F ¥ TRR B G TR G B 0w T IR @ AT
W 30,000 & @9 B | AT X WG 30 T I® A6 o w2 3tk T 3@ WA
X @ A9 2 Tt B AR AW Y T @den and ?

AC fofids @it Y R A 0 0w 9 e w2 1w S e weh aw 40% 2
TN @ W W 14% A EE B
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(1) Issue of sufy
! lc1rent number of 100
er of 10% preference shares

(1) Issue of sufficje
. L ol 8
Ient number of 994, Debentures

Projected P/E ratios '
atos in the case ‘qQui ‘
il the case of cquity, preference and debenture [imancing
are 2 and 16 respec e
: espectively. Which alternative will you consider (o be the
satl 9 4 > T " i
best ? Give reasons lor your choice, (5+10=15)

(m)ﬁﬂﬁi‘mﬂaﬁmmaawaammmwm

(@) Z s =t Gt wewen A 100 A 35000 $fRadl W B 1w o st G

60,000 R &7 ? | 31.3.2016 = wra g¢ i ad @ fg g, aw, sk
e & e g gk @

qﬁ%ﬂunaﬁn{aﬂ?ﬁni(w%um%m%maﬂwa) 50,000
fawa @i wfa afve 20 ®
Radl @n wfa afie 10 ®
| e e v g 4%

ATRF ® FRU I FTER F 7@ g Z s X 9w @ v w1
w1 Fiva fr @ @ 3e@ Jame & e sfaRe i A off o w @@ |l
T 15,00,000 & @ sfaRes o0 RN | ITanT i enren A aRA @ qRmeREEy
qRadt aE 10% &9 Bl W Wy T @ 10% 98 S | iR Ieme
= Htorer fwa ae W I W w8 1 SfaRe Tl ) sravaea @ g e

Refeqs A A 2
(i) Tt 100 & T A IR FW
(ii) wofa: 500 & A 6% WS T
(iii) 50% SRradl Tot 3 50% 500 T A 6% el T

wmﬁiMWM%i,mﬁmeﬁﬁwﬁNaﬁﬁ?mﬁ
TR SurE @ qREeT @R AR o Hifew

RT0;
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Roll No.

No_on”cS[ion Paper : 558
ique paper Code : 241510 G

e of the Paper : Advertising and Personal Selling

amcof[he Course : B.Com. (Hons.)
sancslﬂ' 4
Juation s Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

(WW““ﬁmﬁmmmﬁdﬁﬁwmmmmm )

yote :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

M:wm—waﬂwaﬁqﬁwfﬁﬁmwwﬁaﬁq;ﬁﬁmmﬁm
F HIYH Th & oA Afeu |

All questions are compulsory.

All questions carry equal marks.

ot g e €
;' ot gl & 3F guH B

| Explain any five categories in which different types of advertising can be classified. Give the
different objectives of advertising.

4l ute afodi 91 oren st fd faam # fafi= faall @ o
B w1 e @ e sl @ i i

b e e S

P.TO:



(S

lad

Or

(319a)

£ ! - e - 0
What is “Audience Selection™ ? How is it helpful m advertising planning -

ke o a1 e TR T Yo S Sy

rtising” and “Television advertising”. In your opinion whjg

Differentiate between “Radio adve
is the most useful ?

‘mﬁamﬂ'aﬂt‘ﬁﬁmﬁam'ﬁmmiaWﬁmﬁm
sifyes 3qArht a1 ® 7

Or

(3rere)

What is Media planning ? How media plan is developed and problems are faced while doin

media planning ?

mmmmm%?mmm@ﬁmﬁ?ﬂmsm%m
o TS #9999 Y geeEd @A od § 2

What are the buying motives of consumers ? How advertising affects the buying motives of

consumers ?

ieE % F9 A0 S ¥ 2 SedEel ® oy s ) faa
guifad &ta@ § 2
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Ch
(3veran)
po you think the same ady cnising COpY IS suitable for

all types of media 2 Substantiate your
answer using examples.

are (o select a suitable
1SINg age r o - " 2 ; .

advertising agency for an ady Crusing campaign for a new brand of scooters for ladies 1o be

launched soon in the markey °

Which type of agency would you select and why
m%ﬁ%ﬁamﬁm%m%mﬁmmmmm
ﬁw&maﬁ%m@aﬁmam@a}fmm%mmam
ﬁm%umﬁmmﬁ@qﬂaﬁqﬁﬁaﬂtmﬁ ?

Or

(3ream)

If you were to select an advertising agency to develop and implement an advertising campaign

for a new Tata sports car. What facts would you consider and why ?

mm@ﬁmm@mammmammﬂn

wﬁhﬁﬁﬁ%m@ﬁmﬂ@aﬂﬁwhmfmwﬁmwﬁ
LI

PTO
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(4% 558

| : .ales person in the approac
I xplain the various methods that can be uduplud by a sales p PPooseh Slage

ol personal selling process.
Wmmﬁmmﬁﬁﬁﬁﬁaﬁﬁmmmm
wHy ot fafw=r fafedl @1 emen it

Or

(3tgan)

How do sales objectives affect the design of sales strategy
a “Five Star Hotel™.

o & R, fE # orfe @ feor 1 3 gl @ E 2 W
Reel @1 UF W oihl A Hif |

2 Explain taking an example of |
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Additional Information:
() Closing Stock on 31st Marchi #o7%
was Rs. 61,500 Was valued at Rs. 80,000 cost. However, its market value

@ Provide for depreciation on Plant & Machinery @10% p.a
() Wages and salaries have been paid for eleven months only
(iv) Rentreceived includes Rs, 500 received in advance

v)

Goods worth Rs.
10,000 were sent to a Customer on approval basis and have been accounted in

the books '
OKs as actual sales, These goods remained unapproved on 31st March, 2015. The cost of
such goods was Rs. 8.000.

ﬁqwqﬁwmwmﬁﬁaﬂw%wwm qre, 2015 HF GO A B

%@Mmmmm—ﬁmmﬁmwwﬁﬁm@q—wﬁm

R e (vo) #fee (vo)
gl 220,000
@e & A 1,60,000 —
UG 84,000 1,65,000
argHT 5,000 4,000
W IR 5,000
oA HOT It 26,450
AaH T HIET &Y 5,000 =
TaF [ ST A 7,000 =
e 2,000 1,000
3BT 10,000
T 9,500 10,000
FATA T TG 16,000 i
Fep A SRR 2,25,000 2,07,600
IS =iF 53,000 x
B 50,550 -
¥ o 5 i
Tt e A 22,000 -
6,54,050 6,54,050
e s

() 31 7, 2015 & WiH H AFE I To 80,000 a7 Saf% THH AR A o 61,500

a1 |
(i) iz qar geiFd W 10% aE @ R [EE e |
PTO.
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(i) “ﬁiﬁﬁmaﬁqmmma}ﬁlﬁﬁqﬂq?'

(iv) mﬁmqffﬁowoaﬁmmﬂﬁmg' )

(v) %o 10,000@5[%@%@33@31«%%3"@7“ wgﬁm\@
Wﬁmﬁﬁﬁﬁﬂﬁﬁ#ﬁWWﬂlﬂ.mwwwwmm
Wﬂiﬂqﬁganm;aqqma;ramrﬁ:‘aos,oooml 13

method and Written down value method

ARy & ot @ Ao | 5

the Perpetual Inventory

(a) Distinguish between Straight line fif deprooistion,

TH & g &9 Ry gor ged 99 W Ed

data, prepare the stores Jedger account as per

(b) From the following
15 using:

System and calculate the value of closing inventory on March 31,20
(1)  Last-In-First-Out method; and
(i) Weighted Average Cost method.

March 1 Opening Stock 400 units @ Rs. 7.50 each

Purchase
March 5 600 units @ Rs. 8.00 each
March 15 500 units @ Rs. 9.00 each
March 21 400 units @ Rs. 8.50 each
Issues
March 3 300 units
March 10 500 units
March 17 400 units

Rrit T T @, WA AN TER B AR RN oK @1 a9Isd a9 31 5, 2015 H
ey faferdt gr sifem SERA @ T S B

() g9 EE F99 q4E (FIFO) fafer

@) wia e @

| g e B 400 TFE @ Fo 7.50 T IHE
@i —

5 T 600 3FE @ Fo 8 Uiy THE

15 AT 500 3HE @ Fo 9 Ui IFTE

91 AT 400 3FE @ Fo 8.50 Uiy THE
arr fa—

3 A 300 THTE

10 9T 500 THTE
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4. (a)

(¥

sifefeaer el
1-4-2014 (60) $1-8-2015 (Bo)

o

e ST 5,000 10,000
Fifm e Stgier 10,000 5,000
aargl w1 W@ 1,00,000 1,50,000
0|15 L O L B CA B 80,000 1,20,000
YL 2,10,000 3,00,000
e 4,00,000 3,580,000

oy e e i e @ fafa T SrET

g1 ure, 2015 @Y aare o @ forg s ae
&1 o ol A )

13

d cars on hire-purchase system on | April, 2012, Cash price

I the four cars was Rs. 2.40,000. The
reement and three annual instalments of
(e 10% p.a.on

Akshat purchased four second-han
was Rs. 52,500 each. The hire-purchase price for a

payment (o be made was Rs. 60,000 on signing the ag

Rs. 60,000 each beginning from 3 1st March, 2013. Akshat charges depreciation

straight line method.

down payment and first instalment but could not pay the second instalm
¢ taken back after deprecialing

Akshat paid the ent. The
vendor, after negotiations,
them @ 20% p.a. on written down v.
The vendor spent Rs. 3,600 on repairs and sold

following ledger accounts:
(1) Cars Accounl and Hire-Vendor Account in the books of Akshat.

()  Akshat’s Account and Goods Repossessed Account in the books of Hire-Vendor.

mm,zolzmﬁmﬁm-mmﬁﬁwmmﬁuﬂﬁummquw
Fo 52,500 & | FHUAT-HT e (HP Price) (4T &1 %) Fo 2,40,000 T QA &1 9
i~ Ho 60,000 G G BEIRR (A WAA A1 81 HIH, 2013 H ACH o 60,000 FF
o A = @ dF arftiw e | v, e fafn & 109 aifdw @ A, g
armrar ¥ |
s 3 A T A e PR A A fan e g e A
wu%-w*mm%mmmmvﬂlﬂmaﬁ,w&shqw,2o%znfﬁ%‘
g wmar argd T mar afE uw e w @ e ey fear

fagar 1w @ FTT %o 8,600 @ A @ T A A W F Ho 80,000 H A AT
st aag o e i dan At :

() @ @rar qar A e o o, s a1 gt | qe

i) frara fadkar @ TR H, S 1 Enan @A o el arn o eofed 1

took back three cars, These cars wer
alue method. One car was left with the purchaser.

two of these cars for Rs. 80,000. Show the

———




(b)

7 1857

Or (3gan)
Akhil and Barkha entered into a Joint Venture sharing profits equally. Akhil purchased goods for
Rs. 2,25,000 and paid cash for the same. He drew a bill on Barkha for Rs. 1,00,000 for 2 months

and discounted it @ 18% p.a. The following transactions took place:

() Akhil spent Rs. 4,800 for conveyance; Rs. 6,000 for carmage and Rs. 2,000 for travelling
expenses.

(m)  Barkha spent Rs. 3,000 for travelling expenses and Rs. 1,500 for miscellaneous expenses

()  Akhil sold part of the goods for Rs. 1,80,000 and Barkha sold part of goods for Rs.
1,10,000.

(iv)  Goods costing Rs. 6,000 and Rs. 4,000 were taken up by Akhil and Barkha respectively,
at 20% above the cost.

(v)  Barkha was to be allowed Rs. 4,500 as rent for her godown having been used for Joint
Venture purposes.

(vi)  Akhil was allowed a salary of Rs. 5,000 per month for three months.

(vi) Discount on bill of exchange is to be treated as the expense of the Joint Venture.

Assuming that each party records its own transactions, prepare the following accounts:

(1)  Memorandum Joint Venture Account

(1)  Joint Venture with Barkha Account in the books of Akhil.

(m) Joint Venture with Akhil Account in the books of Barkha.

Jfge q@1 aT@n, A qAE A9 § a9l died 8, 3 §gad 9un e fhar | sifEw

3 To 2,25,000 FT T G q&1 IFHN T A= Hi F @1 | s 3 aw@n w7 @ 9w

F1 @R F o 1,00,000 F fafma faw forar | 38 @ & sfEa 3, 18% aifts &1 =@

F g form ) 3@ s § e AR gu

() fEad I FEEE W So 4,800, W2 W Fo 6,000 T T AT W o 2,000 @
fFT | |

(i) @@ ¥ 99 =G Fo 3,000 FAT AT ZTA Fo 1,500 @ Y |

(i) IfE@w 9 7 H HB T GO 1,80,000 § F&T aT@ 4 WA H HT HAT Fo 1,10,000

¥ 49 fean|
S AT av@T 3 FAI: Go 6,000 TN Fo 4,000 FH I F A A H 20%

(1v)
It g/ W o ferr

(v) T @ SEd e B RE B 4,500 3 T EH i MM YA I F
ford wga e Al

(vi) JfEw Ft dF "' & BO 5,000 9fd WTE F W § da4 fe@r I By
(vii) ﬁﬁwﬁaaﬁgmﬁraﬁq‘za%a‘gﬁmwmfmm;
PTO.
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6 T U B & O oA a3 R @l & Frer an s

() HTENE (memorandum) HIF IaH @Al
() HET B [E@EH § @ B G agE I9H g @/
() T@T F [ § e B Y §gE 399 G| 13

- (a) Radhika & Brothers, Delhi has a branch at Chennai. Goods are invoiced to the branch at 20%
profit on invoice price. The branch has been instructed to send all cash daily to the head office.

the head office except petty expenses which are met by the branch

All expenses are paid by
count, Branch Debtors

manager. From the following particulars, prepare Chennai Branch Ac
Account and Branch Petty Cash Account:

Balances as on April 1,2014: Rs. Rs.
Branch Stock (Invoice price) 1,50,000 Credit sales at branch 3,00,000
Branch Debtors 90,000 (Cash sales at branch 5,00,000
Branch Petty Cash 4,000 Cash received from

Office Furmiture 12,000 debtors at branch 3,00,000
Balances as on March 31, 2015 Discount allowed 3,000
Branch Stock (Invoice price) 1,40,000 Expenses paid by the Head

Rent outstanding 5,000 office: Rent 12,000

Salanes 24,000
Stationery 3,000 39,000
Petty expenses paid by the

branch manager 2,800
Transactions during 2014-15:
Goods invoiced to branch 8,00,000
Goods returned by branch to 10,000
Head Office
Goods returned by Debtors 4,800

Provide depreciation on furniture @ 10%.

ferET wE 7ed, Rl # 9 § uE gran &) a9 d9e T W 20% aH P
g ¥ T A 8 | o F AR 7 AR w A%y e Faied # aw far 5
wea @i, fm e A YaEE B 8 % oo aft @dt @ g g6
Frateg @ #ar & Frer @ @ SMER W ANE @1 @, el e @i au GeH

e @mar a9
| T, 2014 F 919 %o %o
gmEr @F (d9F 7) 150000  gmEr ¥ IuR fam 3,00,000
qm@Er e 90000  9m@r § TE e 5,00,000
gIrar G %3 4000  JmEr ¥ F[ER A urE
siffea e 12000 %3 3,00,000

g & 3,000




(b)

(c)

1853

31 9T, 2015 FY §ny:
YOH FrRfeg zZm :
;1:37 RE (fa ) 1,40,000 T 123{?
o 5,000 EGE 24,000
Byh 3.000 39,000
ET yaeE ’
TH 2014-15 § F-23. s o

N H B TR AT W 800000

Wﬁkm?ﬁm 10,000

gy AT

SRR X AE Ao W 4,800

W-ﬁmww%aﬁwﬁmml 13
Or (1)

Explain the accounting treatment of norm
under the stock and debtors method.

mﬁ@mﬂ,mm%a'ﬁﬁrﬁ,maﬁmmmmmmﬁaﬁ%ﬁ
5

Sukanya of Tamilnadu consigned 300 bicycles at Rs. 2,000 per bicycle to Somnath of Kolkata.
paying freight Rs. 4,000 and other expenses Rs. 2,000. Somnath sold 250 bicycles at Rs. 2.500
per bicycle on credit and 50 bicycles at Rs. 2,200 per bicycle on cash basis. Somnath spent for
freight and octroi Rs. 3,000 and other expenses Rs. 1,000. Somnath remitted the amount due to
Sukanya, after deducting his commission @ 5% (normal), 2%% (overnding), and %% del
credere (del credere commission is to be given on total sales). Somnath found that one customer

al and abnormal loss of stock in branch accounting

to whom credit of 40 days was allowed paid only Rs. 4,800 out of the total amount of Rs. 5,000
due from him in full settlement of account. Other customers paid the amount on due dates.
Prepare Consignment Account and Somnath’s Account in the books of Sukanya.

AETg 3 GHAT A FlAEET B GG F Fo 2,000 WA THE F W A 300 i
Yt @t q@ Fo 4,000 WTI TET Fo 2,000 AW @ B Y AW Brar | @ ¥ 250
AEFT Bo 2,500 Ui AIEEA T T A IUR 49 FAT 50 WEFT Fo 2,200 GRY wEhE
e A | A ¥ 9 @ gt & [ so 3,000 Sl I @ R wo 1,000 @
T | HrEr 3 ot FHYE @ 5% (ATH), 2V4% (SferaT) qem v 3 B (3
FHY AHe AT W & AE) FREH qH T R GHEA B AT A we F o9
& % s med P 40 R @ TUR W AW 0 41, E 3 AR Fo 5,000 # Frdt ot
RTzr & Baw Bo 4,800 2 T | 9 WEH A W TN F FET 79 W yEm ww R
qHET T qEE § JuOr @ qun W H A 9 | 8

P10,
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= T
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I s i

e
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10

ParT B
(wr )

A, B and C sharing profits in the ratio 2:2: 1 agreed upon dissolution of their partnership on 315
March, 2015 on which date their balance sheet was as under:

Liabilities Rs. Assets Rs
A’s Capital Ale 40,000  Fixed Assets 2,00,000
Less . Provision for 50,000
Depreciation 150,000
B’s Capital A/c 30,000 Joint Life Policy
(at surrender value) 10,000
Reserve Fund 10,000  Stock ; 8,000
Profit and Loss Account 10,000 Investments 9,000
Sundry Creditors 19,000 Sundry Debtors 10,000
Less : Provision for Less : Provision for
Discount 500 18,500  Bad Debt 500 9,500
Salaries outstanding 7,000  C’s Capital A/c 2,000
Investment Fluctuation Fund 1,500 Cash at Bank 28,500
1,17,000 1,17,000

Investments were taken over by A at Rs. 6,000. Sundry Creditors of Rs. 10,000 were
taken over by B who has agreed to settle account with them at Rs. 9,900; remaining
creditors were paid at Rs. 7,500. Joint Life Policy was surrendered and fixed assets realized Rs
70,000. Stock and Sundry Debtors realized Rs. 7,000 and Rs. 9,000 respectively. The firm has to
pay 3,000 for an outstanding bill not recorded in the books. An unrecorded asset realised Rs.
5,000.

B took over the responsibility of completing dissolution. He 1s granted salary of Rs. 400 per
month and he is to bear realisation expenses. Actual realisation expenses amounted to Rs
1,100; paid by B on his own. Dissolution was completed and final payments were made on 3]st
July, 2015.

You are required to prepare following ledger accounts in the books of the firm : Realisation
Account, Partner’s Capital Accounts and Bank Account,

A, B TG C AT3ER & 791 2:2:1 & S F 921y O a ¥ ) s) qr, 2015 F TEA
el W FE & Fof fomn ) 56 R gem-aw oy an

m To wetE ¥Fo

A 40000  wE wwf o A

B & oAt 0000 W ; yerEE

ford wug 10,000 * R waam 150000 50,000
A A qifered
(R 1 ) 10,000
ool 8,000
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——— TR

(c)

The firm was dissolved on that date. Stock was taken over by the banker and it realized Rs.

20,000. Bank paid back Rs. 4,000 after recovering its overdrafl and interest due thereon.
24,000 and debtors realized Rs. 14,000 only. Loan was fully
itors were discharged at 10% discount. Expenses
|vent and only Rs. 950 could be

Machinery was disposed off for Rs.
paid off along with interest due Rs. 1,000. Cred
amounted to Rs. 300 which were paid by X. Z became NSO
recovered from his private assels.

Prepare Realisation Account, Partner's Capital Accounts and Bank Accounl. Apply Gamer vs

Murray.
X, Y T Z Q9K § aur 4:3:2 %wﬁm—sﬁmmﬁtl $1-3-2015 I ITHN TH
T3 9 Rar @
¥gard To WAl b
faft=r @er 20000 &5 IO 2,000
§F SlER TN L0
(% & Rwda adm) 15000 e : HRH
o1 (Rras R weied el & g _1000 17,000
Ay &) 25000 &® 25,000
gaft LCIGE Fo ERIEE 40,000
X 20,000 AT-EIA G 9,000
Y 10,000
% 3,000 33,000
793,000 93,000

—

v P & o @ T AR R T | e ) & A @ R ofR SE o 20,000 TG
g:h#mmwwwhmw@mtmmso 4,000 AE
Rt | wefFRY &1 o 24,000 F AT R FET AT § HI@ o 14,000 T FY| TN H
%o 1,woéqwaﬁa,mufgrmﬁmﬁmnmlfaﬁ=ram1’fﬁw% g A fuem
w:a@mwaﬂmmmmx#ﬁmmmﬁwmmmﬁ

awfy & Bae o 950 AW T I Wah |
wﬁtmﬁ'mm&g{.mﬁmﬂmﬂa}@mmhmm

it | 15

Write a short note on ‘proportionate capital method of piecemeal distribution’.

m-wmﬁwmww«mmma 5
9,000
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throughout the paper.
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(b)

(a)

(b)

¢ (a)

& & @Ry

Attempt all questions. All questions carry equal marks.

mﬂﬂ:??afﬁam‘é‘fmﬁyﬁd‘afa;amé‘;

“Small business is considered to be a seed of entrepreneurship for an economy.”
Elaborate.

'mw,m%mmmwwmwm%;’mme 7

Discuss the importance of manufacturing sector and service sector in the Indian economy.

Explain the interrelationship between these two.

W%ﬁ%ﬁﬁ%m#mﬂwﬁma&ﬁaﬂmmuﬁaﬁfﬁ

ST-HAY Hl ATEAT HIT | 8
Or (\'ﬂ‘ﬁl’)

What measures have been initiated by the Government to promote MSMEs?

MSMEs &I §9~1d &0 & g @R § #9-4 3w 9% frg & 7

Differentiate between small, medium and large scale enterprises. Explain their merits and

demerits.
a\%,maﬂwa@ﬁwﬁa?auﬁﬂ‘ammmmwaﬂtwﬁahw
HifoTT | i 8

Explain in brief the impact of overall environment on operations of a business enterprise.

IS T & JaE WA TR F 99 B WA F e @ 7
P.TO.



(957

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(o]

? Explain the characteristics of strategy

What do you mean by the term strategy

w@%ﬁmmm%?mﬁﬁfaﬁﬁmﬂmﬁa'@'ﬂa'q' $
Or (@)

Explain the impact of natural and technological environment on a business enterprise with

suitable examples. :

mﬁmmwmaﬁ?aﬂ@ﬁiﬁmﬁwaﬁwmwm

Ao | : 7
cale business enterprise

Discuss the importance of strategy formulation for a large s

@W%mmﬁmwﬁﬁwﬁma&ﬁmaﬁﬁmn 8

Enumerate the merits and demerits of a company form of organisation.
.

et e 2 Fh B T SR SRl A A |
features and benefits?

o 2 w4 87

What is one person company? What are its
Tt FTh & e &7 gaa g
Or (3raan)

Define LLP. Explain the merits and demerits of this form of organisation.

LLPaﬁqﬁwmnwma}ﬂm%gﬁaﬁrwﬁﬁmaﬁmn 7

“What is a co-operative organisation? How is it helpful to self-help groups? Explain with suitable

case study.

mﬂ@mwz\mhﬁmﬁﬁaﬁﬁ%ﬁmaﬁtm%&m%m
e B | S

How is small business defined in India at present? Discuss the characteristics and scope of

operation.
T & Rd ¥ B2 aE S g @ & S 87 3@ Aeare iR y=e T6n

#I fada Fig | 7

Discuss the scope of business activities. How are they inter-related?

ZraEE Al @ TR @ fAaEEr P R F W sidEay #7 qu Fiee 8
Or (37aan) .

Discuss the advantages and disadvantage
s : : :
suitable? ges of sole proprietorship. When is it more

TF A & A S A H R A ) 98 e ot svga aar 27 7

Differentiate between company and partnership firm
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throughout the paper

pooft ¥ TG FT T Srf a1 R flt um wrar F & difdT @ gad a1 AT 0E
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Attempt all questions. All questions carry equal marks

ot w7 oifard &) aft geat & arF a2

| Explain the nature of business and industry and throw light on interrelationship between
industry and commerce.

TEEE AR UM B WET H AT FIU R IAE T Ao F AT HTHT T gE

i | 15
Or (raam)

Discuss various obstacles in the exchange of goods and services. How does commerce help in removing

these obstacles?

T o Aaait & fafrr 4, o art fafu=r amarsd @ e Fibn | & At # g e
¥ qiftrg fFE YR HeE FHT & 7 15

L What do you mean by the term business environment? Explain its various elements.
ARRIRE qafqor 9T & o9 FT GHEd & 2 g6 fafHe del @1 e i | 15
Or (3raan)
(a) Discuss the steps involved in the process of strategy formulation.

mwﬁmamwﬁmmu 8

(b)  Explain the impact of socio-cultural environment on a business enterprise with suitable

examples.
ﬁmmwmﬁﬁﬂ%m%maﬁmmmm

Fif | %

P T.O.
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“A Joint Stock Company 1s an improvement over other forms of business organization.” Do you agree

with this statement? Give reasons in support of your answer.
Mg eﬁmmﬁmmzﬁmﬁmmﬁaﬁwﬁm%r' T A9 39 Fa §
qEd 7 o IFR B G § HEOT GG H | 15

Or (amal)

“Limited Liability Partnership has two merits of both, a company and a partnership.” Examine this

statement.

Fﬁﬁamﬁawﬂmﬁﬁ,zﬁqﬁaﬂrwﬂﬂﬁ,aﬁaﬁﬁmﬁ@?ﬁ%lwmﬂﬁﬁa
HIT | 15

(a) What is one person company” Explain its merits and demerits.

“@mﬁﬁzﬁqﬁ"waﬁ%?mmaﬂ?wﬁﬁmml 8

(b) Differentiate between partnership and private company.

wrierr ol wrgde FAAT H AR Ty | 7
Or (SIW)

(a) Explain the concept of HUF. What are its features?
maﬁmﬁmmlmwwaﬁ%? 8

(b) How does a partnership organization overcome certain limitations of a sole proprietorship form
of business organization?
et i P ST TR S R & TR de 2 fad el 3 g
& T 87 7

Write explanatory notes on any rwo of the following:

(i) Role of MSMEs in Indian economy

(i) Components of commerce

(iii) International environment of business

(iv) Business environment interface.

Pyt & & Bl @ W AT R fif:

() 9 1 erefawn § MSMEs 1 i

(i) AT & HH

(i) AT F HAAEE GAELT

(iv) ATAEIAE AT FETR | ik il

300
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be used throughout the paper.
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Answer any five questions,
selecting at least rwo questions from each unit.
All questions carry equal marks.
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ﬁqﬁf@ﬂﬁﬁfﬁ?ﬁa}mﬁwwm:

(%) fe @ sfieng
(@) I el
(1) TR TR A
(W) THETSY HER o |
Unit 11
G=E 1)

6. What is the importance of sixth century B.C. in the history of ancient India.

Discuss.
g WA & sfem § 4y oR vt w1 own e € 2wl wf
1. Examine the administrative system of the Mauryas.
WEHIRT ST g 1 e it |
8. Write an essay on the administrative system of the Guptas.
| EER W e | U ey fafau)
). Describe the cultural achievements of the Pallavas.

Tl ) wiephos Sueterd @ faerm
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Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

Pt : TW AT 1 I s @ e fad wh v § A afE @i I

F HEH TH @ e AIfer |
Attempt any four questions.
All questions carry equal marks.
frdl wm W & IW A |
ot ywE @ % oA € |

| What is Political Theory ? Explain its relevance.

Trfifes fogiq Fn & 7 EE WEMTEA TR R
PTO.
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What do you understand by the concept of democracy 7 Discuss
SNFas #1 sEumon ¥ oy &y gawa § 2 faden @i
I-xamine the relationship between the civil society and the state
a eiR At wwe @ st wEd @ wdem wie
Define liberty. Flucidate the concept of liberty given by 1.8 Mill
wm @ ofonfin @ | ww. fae & A @ faed # fag e
Fifaa |
Write an essay on Periyar’s concept of Identity.
ifar & fom & fage w e fayw fafag
Describe the concept of Gandhian Swara).
M W WA F EYR H auE wifeg |
Do you think that censorship is justified ?
F AP AR Fmfew =EETa ¥ 2
Write short notes on any rwo of the following
()  What is Politics ?
(if)  Elements of state by Kautilya
(i) Locke's concept of property

(iv) Should the institution of family not to be intervened by the state ?

- i
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Note : — Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.

fuuft :— 38 W9 9 &1 SW St A G fredt ww v d e o @ s
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Attempt any five questions.
All questions carry equal marks.
frl ura vl & IW )
aft yvl & ok guH g
| What is the nature and scope of ethics ? Discuss.
Fiftemes 1 wwy wd &% ¥ & 2 faaww Ffw
% How does Aristotle define virtue ? Disucss.

T T F HY o w@ & 2 faEw Fif
P.T.O.
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3. Explain James Rachells views on Cultural Relativism.
grfas gRegER W AW =d & ghed F qozTEa | |
4. What is the concept of duty according to Kant ?
F= P U FAA H F FAHRON § 7
5. Discuss Kant’s notion of goodwill.
F= B YN GHed F! Ghoqdl F1 fad=qr Hifere
6.  Discuss briefly Aristotle’s ethical theory.

I & Ao fagm #1 d@ém § fad=T FifSw|

7. Explain Mills theory of Utilitarianism.

e & swafaEr fag< + g9zEd |
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Attempt all questions.

You are Sarita/Suresh. Write a diary entry about how you fell down the stairs and broke
your ankle.

Or

Write a diary entry on the opportunity you were given to interview a celebrity and the
quesions you asked him/her. 10

Write a paragraph on any one of the following topics in about 200 words:

(i) How memorable was your visit to your old school
(i) How facebook has changed the world
(iif) Women in India are insecure

(iv) Advertisements and how they influence the customer. 10

Read the following passage carefully:

In the cacophony that surrounds us, to dwell within requires great vigilance on our part.
Silence as a regular practice [acilitates inner quest. It is the quieting of mental activity.
Thoughts travel faster than light. We cannot avoid thoughts. But by silencing the mind, we
can scale down the thinking process. Thinl‘(ing is the activily associated with thoughts.
Needless thinking leads to worry. The practice of silence helps in sensitising us 10 our
inner consciousness, the essence of our being.

While loneliness is the poverty of self, solitude is its richness. Indeed, when we are
troubled and in doubt, we discover answers when we tune in (o our inner voice. Combining
the twin activities of silence and listening as a daily practice helps in increasing our
awareness and connecting with the power within. The practice of silence and listening
besides quickening the path to realizing the truth, helps us understand the futility of trying
10 control putcomes and avoid the constant struggle and concern with what happened and

What wi]| be. Our problem stems from an over emphasis on resullts.
P. TAG):
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Silence and listening help us to focus our €nergies on the power within and live life
moment by moment; to be more mindlul, conscious and sensitive 10 what we think, say and
do. We realize that silence is a powerful mechanism that we possess into which the world
cannot intrude. Our actions then emanate only from good intent and sincere eflort, The
benefit will be peace of mind and tranquility despite intense actlivity. (252 words)

(a) On the basis of the above passage make notes on it, using headings and sub-headings.
Use recognisable abbreviations where necessary (minimum of 4). Supply an
appropriate title toit. 10

(b) Make a summary of the passage in about 80 to 90 words. 5

(a) Send your CV/Resume to The Times of India for the post of Marketing Manager.
Mention your work experience along with your qualifications, along with a covering
letter.

Or

(b) M/S Hindustan Cables have advertised for the post of Executive Assistant; apply for
the post with your CV/Resume. Mention your work experience along with your
qualifications. Write a covering letter with it. 5+10

‘(a) Write a letter to your father asking him to send you money to go on a college trip.
Or

(b) Write a letter to your [riend inviting him/her to attend )}our sister’s wedding, which is
to be held at your village. 7

(a) Write a letter to the Municipal Corporation of your colony complaining to them
about the sound pollution that is rampant due to a community hall in the vicinity.

Or

(b) Write a letter to the Principal asking his/her permission to hold a cultural programme
on the eve of the Independence Day. N

(a) Write a book review ol a book you have read recently. Mention the name of the
author,

Or

(b) Write a film review of a Hollywood/Bollywood movie you have watched recently.
Mention the cast and director. 10
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3.  Wrile short notes on:
(i) Feasibility report,

(i) Elements of a business plan
wfer feoot fof@ag

(i) =aedar Rard,

(i) =R Ao (Reme @) & 9

Discuss the taxation and legal consideration in the preparation of a project.

v qRAGE AR A FAUA R HEER fFERe w == S

“For the process of industrialization in India, small and large in dustiires have to

be viewed as mutually supportive and complementary.” Discuss.
“yra A s @ afea @ B, 9 ik @@ SA @l R qEEdE SR [WE D
T A @ = 2 == i

6. What is meant by a feasibility study? What aspects are analyzed under a feasibility
study?
AR FATA A T A9 27 AIBEA AT D A5 fohA TeeAl 1 fagerur faman
S 27

7. _ Write short notes:
(a) Financial planning,
(b) Collaboration arrangements,

(c) Prototype development.

wlerm oot fafag:
(%) fasia g fmfn
(@) weam =Een

(1) iRy RAewHe

(200)
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| Attempt 4 questions in all.
Question No. 1 is compulsory.

Note : Questions carrying 2 marks must be answered in approximately 20-25 words and those

| carrying 3 marks in approximately 75-100 words. Questions carrying § marks are to be
answered in approximately 150-200 words.

| Auempt any rhree of the following questions :
(@) Sujit Mukherjee says that the conventional approach of writing a history of literature is

anubleforamtmllhlndh.Doyouqm?Givcmmfwmm.

()  Sujit Mukherjee says that the plays of Kalidas provide evidence of the existence of mult-
Wiqmmm?mmw?oiwmhmm.

P.TO.
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(d)

(e)

(a2T) 5022
Write a short note on the growth of the novel in India with special reference (q
“Propositions” by Sujit Mukherjee.
Why does Sujit Mukherjee say that the poet was ‘a man of the world" after the eng

of the classical age ?

Write a short note on the language/s used by Tulsidas as discussed in Sujit Mukherjee’s

essay.

Discuss Mahabharata as a source book for contemporary literatures in India.

3x5=15
Read the following lines and answer the questions that follow :
Neither 1 know the secret of religion
Nor am | born of Adam and Eve
[ have given myself no name
I know not who I am

Questions :

()  Who is the poet of the above lines ? What are the original languages of these

lines ?

(i) Why does the poet say that he has given himself no name ?
(i) What is the kind of knowledge that the ‘secret of religion’ refers to ?
(iv) Discuss how does ‘I know not who I am’ reflect the

Sufi vision ?

242+3+3=10




(h)

(©)

(b)

(c)

(13 )

Discuss how Mahadeviyakka’s Jife is an example of protest both against the notions of

love as well as established religion, 5

Discuss the concept of God that the Bauls have with special reference to the Baul

song. 5

Read the following lines and answer the questions that follow

Laju stood straight in front of him, shaking with fear. If anyone knew Sundar Lal,
it was she. She had forgotten none of how badly he had treated her before, and

now that she was returning after living with another man, there was no telling what he

might do.

Questions :

()  Who is the writer of the above lines ?

(i)  What is the original language of the above lines ?

(iif)  Why kind of relationship did Laju have with Sundar Lal ?

(iv) Why did Laju stay with another man ? 2+2+3+3=10
Write a short note on ‘Hindi’ as a poem about language, politics and society, 5
Write a short note on the ‘Ghazal’ as a poem of love for both the human and the
divine, 5

P.T.O.



(a)

(b)
(c)

(a)

(89 5022
Read the following lines and answer the questions that follow :
Oh, my beloved one
If you lost your health due to ill health
I come forward here to save you
With this Emul

To call back your lost health.

Questions :

() What is the original language of the above lines ? To whom are¢ these lines

addressed ?
(i)  Who is the “beloved one” in the above lines ?
(iif)  What is the “Emul” and what is its purpose ?
(iv) Discuss the above lines as a part of a ritual song. 2+2+3+43=10
Write a short note on the language and religion of the Kondh Tribe. 5

G.N. Devy says that literature is not just written but is also oral. Do you agree ? Discuss

with special reference to any one song. 5

Read the following lines and answer the questions that follow :

[ tease the kites

Ask them, are you well ?
You fly away,

disappear in the distance

like a dot.




(b)

(c)

(@)

5022
Questions .
() Name the poet and the original language of the above lines.
(i) Why does the poet tease the kites ?
(i) How is the situation of the kites different from that of the poet ?
(iv) Explain the significance of the liné “You fly away”, 242+3+3=10

What does Bama say about the system of payment for work done by women ? What

kind of work do children have 1o do in Bama's community ? 5
Discuss “Habit” as a poem of quiet protest. 3
Read the following lines and answer the questions that follow :

I gave you one only the other day

A new one, what have you done with it ?

Are you some sort of an accountant

With some Shah ?

Questions :

(/)  Name the poem and the original language of the above lines.

(i) Who is the speaker of the above lines ?

(iif) Why does the speaker sound upset ?

(iv) Discuss the image of the Shah in the last line. 2+42+3+3=10

RT.0.



(b)

(c)

(a)

)

(c)

(@)

( 6 ) S022

Do you think the title “Passage to America” is a suitable one ? Give reasons for your
answer 5
Describe the festival of lights as it is celebrated in Kanthapura.
Read the following lines and answer the questions that follow

Are we 1o note it as a silencing tactic ? It is no wonder that this text has been silenced

by the urban literate male mediators in the role of literary historians.

Questions

() Name the author of the above lines.

(/) What is the title of the essay from which the above lines have been taken ?
(/) Explain what the words “silencing tactic” mean.

(iv) Why has the text been “silenced” by male mediators ? 2+2+3+3=10
Describe rwo qualities of Ram that are described by the writer in Chandrabati's
Ramayana. p
Describe the different stages by which the girl becomes a “thing” in “The Flowering
Tree”. 5
Read the following lines and answer the questions that follow
Iftheamvecamwtukebigbmdluofwood,domgpmmmel,,in“w
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(a)mmémmﬁuﬁmmm| 5
I
fﬁaﬁuﬁwﬂw%mﬁﬁaﬁaaﬁmﬁmaﬂmml
(@) FTE-WHN H qouiFA F e w wEm efem :

(F) AR FHifsu .

In 1944, the US President, Franklin D. Roosevelt in his state of the Union address
declared : “True individual freedom cannot exist without economic security and inde-
pendence.” In the similar spirit. on 14th August 1947, the eve of Independence of
India, Jawaharlal Nehru, the first Prime Minister of India said that freedom is an opportunity
to end poverty and ignorance and disease and inequality of opportunity. The question

is that are we really independent even today ? 6
Or

The human race is spread all over the world. These human beings cat different kinds
of food. This food is partly according to the climate in which they live, and partly
according to the kind of food which their country produces. Thus, in India. the people
live chiefly on different kinds of grain. eggs. milk or sometimes fish and meat_ In urope
the people eat more meat and less grain. The kind of food eaten also depends on
custom or habit. Sometimes it depends upon religion. All races of mankind have their

own different ideas on this matter.

R0,
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sr. No. of Question Paper : §172 GC Your ReliNe......... ...
Unique Paper Code 52031318

Name of the Paper English Language A

Name of the Course - B.Com.

Semester 1

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt of this question
paper.

2. Attempt all questions.

. (a) You are Vineet/Shalu. You are the President of the Music Society, Dhun, of
your college. The society has decided to organize an Inter-college Classical
Music Competition in the college. Draft a notice to put up on the college
notice-board. Include the necessary detail, such as date, time and venue of
the competition, eligibility conditions, participation fee, date of registration,

etc. (10)
OR

(b) You are the President of the NSS Club of your college. A meeting of the
club is scheduled on 15 December 2016 to discuss certain matters. Draft a
notice to put up on the notice-board in order to inform the members. Include
the time and venue of the meeting, matters to be discussed, and a formal
request to attend the meeting.

2. Write a feature article on one of the following topics in 300 words: (15)

(a) Demonetization of 500 and 1000 rupee currency notes may arrest the
corruption.

(b) Political parties use public for political mileage.

(c) A visit to a hill station.
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3 Explain the role of manager as an entreprencur in small business.
O g . b O L

4  What is business communication ? Explain message, medium, value, barriers, role

of 1CT in business communication.
ST - SR o & 7 e q9R A KTW‘dﬁifﬁﬂ,‘ﬂﬁﬂ“.ﬁFq.-yafnﬁ"ﬁ wifrert
wRa Fifag |

5 Discuss the role of internet in small business.

IR wmEm A T @ i @ e @

6. Small business is seed bed of entrepreneurship. Explain.

o1 AT Il &1 I T ? | SARel AT |

7.  Explain the steps of using Microsoft introductory word processing.

MRl @ WElaE a8 WA @ wE e @ =9l =R FHIfA |

8. Explain the role of eco-friendly environment in small business. And how it differs
from the environment of large scale business ?

2P zraam A it - A e ) e 9 e @i w2 e @ o
& watarn A =8 R yaw = 2 7

9.  Why quality and productivity improvement is required in small business ? What
are the advantages and disadvantages of implementing quality and productivity
improvements ?

2N aaE A A R Ieedal A GUR F4 HEvad B @ 7 uiEn i e
A qurl @ w sk s e AR |

10, “The knowledge of manual and computerised office systems and precedures can
take the managers of small business to the maximum heights.” Do you agree ?
Give reasons in support of your answer.

W3t AN Felga wrier ol @ FEEE SR kA S s @ v @
FoadH A W UG AFA € |7 F AN WEAG B 7 A0 IR B @A A HRO TG
FAT |

(300)
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- No.of Question Paper : 2502 GC-3 Your Roll No....
uUnique Paper Code 1 22415302 .
Name of the Paper + Project Management

Name of the Course - Generic Elective for Hons. Courses

gemester | |

puration : 3 Hours Maximum Marks : 75

Instructions for Candidates

|. Write your Roll No. on the lop immediately on receipt of this question paper.

2. Attempt all the questions.

3. All questions have internal choices.

4, Use of calculators is allowed.

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

gl & fou 3w

I W@ WE-73 & fied @ s few e FufRe e w s s Rl |
2 Wft w A & I Ao

3wl vl & =R faenen f@a wg @)

4 WHRU Thedhdled & 9N A B

5 F@ WS- 9= o I Ade A1 fEd R v wman A AfSe, A o 3w @ wemw v
B B afge |

l. (a) Identification of investment opportunities requires environmental scanning.
Elaborate (8)

(b) Define Project Management. What are its features? (7

(F) P s o) veaE @ O A @ SEAET 9 AaEEar Bdl 21 T &

PO,
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q.

OR

(a) Explain any (wo sources of financing a

Project in India with
demerits.

their merits &
(8)

iding the Capacily of g
(7)

I U 3 2wy

(b) What factors are to be considered while dec
manufacturing plant?

(%) wﬁqﬁlflﬁm%ﬁﬁﬁum%%%ﬁaﬁ%ﬁ%aﬁﬁ
AHAT |

(@) fafasio was (manufacturing plant) & BRI 9 R W 6 e W s
W =R ?

(@) Define Social Cost Benefit Analysis and discuss the principal sources of

discrepancy between social costs and benefits on the one hand and monetary
costs and benefits on the other. (8)

(b) What is Payback period and what are its disadvantages? (7)

(%) AT AT o fveror ) affie @R sl v SR i S sk e sk
T SR A A Sk o™ & de e @ e e w e iR

(@) TRt s @ 2 sk gwd g T #7
OR

(@) What are the factors that help in business growth? (®)

(b) What do you mean by Capital Budgeting and why is it important for a firm?
(7)
(%) =R & @ A wee A ad FRE TH-F B 27

(@) @ffew awfen (Yon 9 a9ife) A s w0 TR ¥ IR R W @ fw ae
FEEYU B ?

(a) Explain the network techniques of project controlling? (8)

(b) What are the various issues faced by a project manager in execution of a
7

project? (7)
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Name of the Paper : Insurance and Risk Management
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(Write your Roll No. on the fop immediately on receipt of this question paper.)
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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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& HYEH U& & e =feu |

All questions are compulsory.

All questions carry equal marks.

aft wvd afad §
ot YT ® 3% §EHA T O

| What is Risk ? Discuss its types and methods of handling.

Sifem #=1 ¢ ? 3@ wAR iR goym #1 fafual fafae |
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Or
(3rean)
“The risk manager in an organization is required 1o select the most appropriate technique of

handling risk based on frequency and severity of loss.” Explain the statement in the light of

various risk management techniques available and their suitability.

“fEdt T SifEn Weys &l B4 el aoErdl 3R TEAdl & HedsR Sifay
gy & fou weifaa fafu &1 gam & @@ § 1" Sifem yevm &)
Iqesy AR Ifaa fafvdl & wew § 3@ w9 & = ifEu |

Discuss powers and functions of IRDA as per Insurance Regulatory and Development

Authority Act, 1999.

wRerd st fafams e faem wfveo sifufem, 1999 & 729 fafrmgs =
Ve AR wrt # faaww sifew

Or
(3reran)
Define Insurance as a contract. Explain various characteristics of insurance.

W ST o A | @ fafe wen 9 sTen wfm

Define Insurance. Discuss its nature and advantages.

RIS LT R O
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Or

(3reram)

What is Reinsurance ? Discuss its objectives and various methods.

WW%?WWWWWWWMW|

Write notes on any fwo of the following :

(@) Principle of Insurable interest

(b) Principle of indemnity

(¢) Principle of Proximate Cause.

frafafed 4 4 &=l @ w feooit fofau

() s fea &1 fagr

(@) afayfd 1 fagia

(W) fAwean wro #1 fag@ |

5. Discuss various insurance Cargo c'lauses in Marine Insurance.

gl |@m % fafy= o i Syael #1 faae wifew

Or

(3r7am)

Explain the various fire insurance policies taken by companies for their stock.

F9E g A WA @ fod fau 9 9@ faf= doesi @) ==t @ifee
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